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SM400A, t=10 kg 15 14 19 14 62
SM400A, t=14 kg 8 8 8 8 32
PR E &G kg 56 55 60 55 226
T4 5 SS400, L-90x90x10x10 kg 7 7 9 7 30
SS400, L-125x75x10x10 kg 8 8 10 8 34
T8l FE &5 R kg 15 15 19 15 64
fsRHE A T4 A
HA CHBIETE kg 71 70 79 70 290




Al T TR T

B R R

B
Gt GAAT
G| PSS HAL a & i
e A & A JE A & A
EAARN S AS |F10T, HTB M22x60 il 12 12 14 12 50
F10T, HTB M22x70 HH 20 20 21 20 81
AR -
s HH 32 32 35 32 131
1RV hE=  |[F10T, HTB M22x60 kg 6 6 7 6 25
F10T, HTB M22x70 kg 11 11 12 11 45
EHIARL NEES
s kg 17 17 19 17 70
TR =RV bR
=4 ¢ 22x280, SS400 HH 2 2 2 2 8
TR =RV hE
iy ¢ 22x280, SS400 kg 2 2 2 2 8
THER A G L m2 0. 45 0. 45 0. 45 0. 45 1. 80
A LA T m2 0. 45 0.45 0. 45 0.45 1.80




Al T TR T

B R R

B
Gt GAKT
G| PSS HAL a & i
e A & A JE A & A

7 2 G EIAI:

T ME t=10mm, Hrohi m 1.51 1.52 1.58 1.51 6.12
TEWRE L=20mPL . LESHF

JEYS IR R T | R W=100kgLL T &) 1 1 1 1 4

BN T 5 LRy TR m3 0.001 0.001 0.001 0. 003

THIREL K BT T |G <20kg/ 15064 HH 7 7 7 7 28
20< G =40kg/131 44 J 1 1 1 1 4
SS400, t=30, KK T

ST LB T &, M22J ¢ 24.5 ZN 32 32 35 32 131

1R /1A v S AR L |HTB M22 A 32 32 35 32 131

INEASEEL G A T

(Rl A A BRASH V) | 9 P Gmmdf 55 FIE = 1 4mAS T m 0. 36 0.36

BESR AT E L kg 42 42 49 42 175

Yy T A 1 1




BB R
F B RS ORI T

B
G1H7 GAKT
G| PSS HAL a &
e A & A JE A & A
20T 9T ~ bt —HI kg 42 42 49 42 175
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M Bl MY TR E T

7y & GIAT

lz- : j/ﬁ_u\ ,T/EI
TR Bk 53 = T_E
FrIE & T3
N=1
1 [E1)
it
W1= 0. 160%0. 009%0. 740%7850kg/m3*2 =17
SS400, t=9 W2= 0. 160%0. 009*0. 420%7850kg/m3 = 5
I
W= 17+5 = 22
22 kg
it
W = 0. 160%0. 009*0. 980%7850kg/m3 =11
SM400A, t=9
11 kg
St
W1= 0. 090%0. 010*0. 090%7850kg/m3 = 1
SM400A, t=10 W2= 0. 180%*0. 010*0. 980%7850kg/m3 =14
N
W= 1+14 =15
15 kg
it
W = 0.200%0. 014*0. 350%7850kg/m3 = 8
SM400A, t=14
8 kg
fﬂ*ﬁﬁ% =R
2 W= 22+11+15+8 = 56
56 kg
i
W = 0.260%13. 3kg/m*2 = 7
SS400, L-90x90x1
0x10 7 kg
iGN
W = 0.260%14. 9kg/m*2 = 8
SS400, L-125x75x
10x10 8 kg
ﬁ/fﬂﬁ% =R
W= 7+8 =15
15 kg
TR L5 RAE
HE YW= 56+15 =71
C-hitEa e 71 kg
B IRV N A
N =12
F10T, HTB M22x60
12 HH.
B IRV N A
N =20
F10T, HTB M22x70
20 HH.




=3 varel
— A AR E
i B MY TR E T
7y 7o GIMT
X A = ]|
AR B RS Bl Vi ¥ =
VALY -
At SN= 12+20 = 32
32 #H
AL N EE
W = 12%0. 525kg/fH = 6
F10T. HTB M22x60
6 kg
mhARNL NEE
W = 20%0. 555kg/#H =11
F10T. HTB M22x70
11 kg
=mARN NEES
At W= 6+11 =17
17 kg
T =RV PR
Zi1g N =2
$ 22x280. SS400 2 #H.
7 —R)V NE
i+ ALK Wi= 0.280%2. 98kg/m = 0.834
F > kb W2= 0. 079%g/1H
$ 22x280. SS400 JE 4 W3= 0.019kg/#x
W= (0.834+0. 079+0. 019) *2 = 1.864
2 kg
T RER A E ) T
A = 0. 455%0. 980 = 0.45
0.45 m2
o LREE T
A = 0. 455%0. 980 = 0.45
0.45 m2
7 A G)Ero)HIfE
T L = 0.189+0. 980+0. 160+0. 0902 = 1.509
HE t=10mm, #7
S 1.51 m
JE 5 EERA TR T
N=1
HEEE L=20mPA
. IEM EE W=10
OkgLL T 1 &
& JENT
V = 0.050%0. 050%0. 010 = 0.001
LRy FlAlE
Hh 0.001 m3




=3 varel
— A AR E
i B MY TR E T
7y 7o GIMT
X A = ]|
AR B RS Bl Vi B ¥ =
SRR A B T
[Guss]
G =20kg/ 1541 W1= 0. 160%0. 009%0. 740%7850kg/m3 = 8
N1= 2
W2= 0. 160%0. 009%0. 420%7850kg/m3 = 5
N2= 1
[Stiff]
W3= 0. 260%13. 3kg/m = 3
N3= 2
W4= 0. 260%14. 9kg/m = 4
N4= 2
a8
N = 2+1+2+2 = 7
7 F
FH RS A B T
[Web+F1g+Sole]
20< G =40kg/1%B Wi= 0. 180%0. 010%0. 980%7850kg/m3 =14
M W2= 0. 160%0. 009%0. 980%7850kg/m3 =11
W3= 0. 200%0. 014%0. 350%7850kg/m3 = 8
a8
W = 14+11+8 =33
N=1
1 F
ST LB 1T
N = 32
SS400, t=30. /K
SERONRRE, M2
2/ ¢ 24.5 32 N
B IRV N AKE T
N = 32
HTB M22
32 N
BB A 1
(flsRA B | L= 0.090%4 - 0.36
aie)
47 PN 6mm i B A
£ 14mAT 0.36 m
BRI T
Web PL t=10
Wi= (0. 180+0. 009)*0. 010%0. 980%7850kg/m3 = 15
L-Flg L-75x75x 9x 9
W2= 0. 980%2%9. 96kg/m =20
Stiff L-90x90x10x10
W3= 0. 260%2%13. 3kg/m = 7
W= 15+20+7 = 42

42 kg
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‘ — X E A E
fl B MY TR E T
a7 o GIMT
X A = ]|
AIBIL HLAS L vl ¥ =
AT T T
W =42
~t—H1

42 kg




M Bl MY TR E T

A= mm

X e =il
AR B RS Bl Vi ¥ =
FRAE 51 P
N=1
1 & AT
AR
W1= 0. 160%0. 009*0. 740%7850kg/m3*2 = 17
SS400, t=9 W2= 0. 160%0. 009*0. 420%7850kg/m3 = 5
/NG
W= 17+5 = 22
22 kg
AR
W = 0. 160%0. 009*0. 990%7850kg/m3 =11
SM400A, t=9
11 kg
AR
W1= 0. 180%*0. 010*0. 990%7850kg/m3 =14
SM400A, t=10
14 kg
AR
W = 0.200%0. 014*0. 350%7850kg/m3 = 8
SM400A, t=14
8 kg
fﬂ*ﬁﬁ% =5
2W= 22+11+14+8 = 55
55 kg
TE i) B
W = 0.260%13. 3kg/m*2 = 7
SS400, L-90x90x1
0x10 7 kg
TE i) 2
W = 0.260%14. 9kg/m*2 = 8
SS400, L-125x75x
10x10 8 kg
V7 b
W= 7+8 =15
15 kg
FHTRERAS T35 A E
HE YW= 55+15 =70
C-HhdLEaTe 70 kg
B IRV N A
N =12
F10T. HTB M22x60
12 #H
B IRV N A
N = 20
F10T. HTB M22x70
20 #H
EJIAR IV FAREA
) YN= 12+20 = 32
32 HH




fii B MY TR E T
a7 o Gl
X e =i

A RS Bl Vi ¥ =
AL SR
W = 12%0. 525kg/fH = 6
F10T. HTB M22x60
6 kg
AL N EE
W = 20%0. 555kg/#H =11
F10T. HTB M22x70
11 kg
IRV NEES
At W= 6+11 =17
17 kg
T =RV PR
g N =2
$ 22x280. SS400 2 #H.
7 —R)V NE
5= ALK Wi= 0.280%2. 98kg/m = 0.834
F > kb W2= 0. 079%g/1#
$ 22x280. SS400 JE 4 W3= 0.019kg/#%
W= (0.834+0. 079+0. 019) *2 = 1.864
2 kg
T RER A FH T
A = 0. 455%0. 990 = 0.45
0.45 m2
o LREE T
A = 0. 455%0. 990 = 0.45
0.45 m2
7 A G)Ero)HIfE
T L = 0.189+0. 990+0. 160+0. 0902 = 1.519
HE t=10mm, #7
PANTT] 1.52 m
JE 55 R TR T
N=1
HEEE L=20mPA
. IEM EE W=10
OkgLL T 1 &
& JENT
V = 0. 065%0. 200%0. 009 = 0.001
LYoy TR
Hh 0.001 m3
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A= mm

X 4y FE R
AR B RS Bl Vi B ¥ =
SRR A B T
[Guss]
G =20kg/ 1541 W1= 0. 160%0. 009%0. 740%7850kg/m3 = 8
N1= 2
W2= 0. 160%0. 009%0. 420%7850kg,/m3 = 5
N2= 1
[Stiff]
W3= 0. 260%13. 3kg/m = 3
N3= 2
W4= 0. 260%14. 9kg/m = 4
N4= 2
aF
N = 2+1+2+2 = 7
7 F
FH RS A B T
[Web+F1g+Sole]
20< G =40kg/ 13 Wi= 0. 180%0. 010%0. 990%7850kg,/m3 =14
#t W2= 0. 160%0. 009%0. 990%7850kg,/m3 =11
W3= 0. 200%0. 014%0. 350%7850kg,/m3 = 8
a8
W= 14+11+8 = 33
N=1
1 F
ST FLAA T
N = 32
SS400, t=30. /K
VR ONFmE, M2
2 ¢ 24.5 32 7N
=RV AR L
N = 32
HTB M22
32 VN
AT T
Web PL t=10
Wi= (0. 180+0. 009)*0. 010%0. 990%7850kg/m3 = 15
L-Flg L-75x75x 9x 9
W2=0.990%2%9. 96kg/m = 20
Stiff L-90x90x10x10
W3= 0.260%2%13. 3kg/m = 7
SW= 15+20+7 = 42
42 kg
AT TS
W= 42
~ B —H1
42 kg




o
_‘ﬂX n+ﬁ
i Bl o BT CTHURIE T
7a 7 GAMT
lz- : j/ﬁ_u\ ,T/EI
AIBIL HLAS L vl ¥ =
FE & P 2
N=1
1 & T
AR
W1= 0. 160%0. 009*0. 740%7850kg/m3*2 17
SS400, t=9 W2= 0. 160%0. 009*0. 420%7850kg/m3 5
/NG
W= 17+5 22
22 kg
AR
W = 0. 160%0. 009*0. 980%7850kg/m3 11
SM400A, t=9
11 kg
AR
W = 0.250%0. 010*0. 980%7850kg/m3 19
SM400A, t=10
19 kg
AR
W = 0.200%0. 014*0. 350%7850kg/m3 8
SM400A, t=14
8 kg
fﬂ*ﬁﬁ% =5
2W= 22+11+19+8 60
60 kg
TE i) B
W = 0.330%13. 3kg/m*2 9
SS400, L-90x90x1
0x10 9 kg
TE i) 2
W = 0.330%14. 9kg/m*2 10
SS400, L-125x75x
10x10 10 kg
V7 b
2 W= 9+10 19
19 kg
FHTRERAS T35 A E
H X W= 60+19 79
C-HhdLEaTe 79 kg
B IRV N A
N =14
F10T. HTB M22x60
14 #H
B IRV N A
N =21
F10T. HTB M22x70
21 #H
EJIAR IV FAREA
&t YN= 14+21 35
35 HH
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— A AR E
i B MY TR E T
7a 7o GAHT
X A = ]|
A RS Bl Vi ¥ =
AL SR
W = 14%0. 525kg/fH = 7
F10T. HTB M22x60
7 kg
AL N EE
W = 21%0. 555kg/#H =12
F10T. HTB M22x70
12 kg
IRV NEES
At W= 7+12 =19
19 kg
T =RV PR
g N =2
$ 22x280. SS400 2 #H.
7 —R)V NE
5= ALK Wi= 0.280%2. 98kg/m = 0.834
F > kb W2= 0. 079%g/1#
$ 22x280. SS400 JE 4 W3= 0.019kg/#%
W= (0.834+0. 079+0. 019) *2 = 1.864
2 kg
T RER A FH T
A = 0. 455%0. 980 = 0.45
0.45 m2
o LREE T
A = 0. 455%0. 980 = 0.45
0.45 m2
7 A G)Ero)HIfE
T L = 0.259+0. 980+0. 160+0. 0902 = 1.579
HE t=10mm, #7
PANTT] 1.58 m
JE 55 R TR T
N=1
HEEE L=20mPA
. IEM EE W=10
OkgLL T 1 &
& JENT
V = 0.050%0. 150%0. 009 = 0.001
LYoy TR
Hh 0.001 m3
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7y & GAAT
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AR B RS Bl Vi ¥ =
SRR A B T
[Guss]
G =20kg/ 1544 W1= 0. 160%0. 009%0. 740%7850kg/m3 = 8
N1= 2
W2= 0. 160%0. 009*0. 420%7850kg/m3 = 5
N2= 1
[Stiff]
W3= 0. 330%13. 3kg/m = 4
N3= 2
W4= 0. 330%14. 9kg/m = 5
N4= 2
a8
N = 2+1+2+2 = 7
7 #
FH RS A B T
[Web+F1g+Sole]
20< G =40kg/1ER W1= 0. 250%0. 010*0. 980%7850kg/m3 =19
M W2= 0. 160%0. 009*0. 980%7850kg/m3 =11
W3= 0. 200%0. 014*0. 350%7850kg/m3 = 8
a8
W= 19+11+8 = 38
N=1
1 F
ST LB 1T
N = 35
SS400, t=30, /K
SERONRRE, M2
2 ¢ 24.5 35 VN
B IRV N AKE T
N = 35
HTB M22
35 /N
AT T
Web PL t=10
Wi= (0. 250+0. 009)*0. 010%0. 980%7850kg/m3 = 20
L-Flg L-75x75x 9x 9
W2= 0. 980%2%9. 96kg/m = 20
Stiff L-90x90x10x10
W3= 0. 330%2%13. 3kg/m = 9
2 W= 20+20+9 =49
49 kg
U~y MiEL
N=1
1 ZN
AT T
W =49
~ B —H1
49 kg
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A= G4ifﬁ

X e =il
AR B RS Bl Vi ¥ =
FRAE 51 P
N=1
1 & AT
AR
W1= 0. 160%0. 009*0. 740%7850kg/m3*2 = 17
SS400, t=9 W2= 0. 160%0. 009*0. 420%7850kg/m3 = 5
/NG
W= 17+5 = 22
22 kg
AR
W = 0. 160%0. 009*0. 980%7850kg/m3 =11
SM400A, t=9
11 kg
AR
W = 0. 180%0. 010*0. 980%7850kg/m3 =14
SM400A, t=10
14 kg
AR
W = 0.200%0. 014*0. 350%7850kg/m3 = 8
SM400A, t=14
8 kg
fﬂ*ﬁﬁ% =5
2W= 22+11+14+8 = 55
55 kg
TE i) B
W = 0.260%13. 3kg/m*2 = 7
SS400, L-90x90x1
0x10 7 kg
TE i) 2
W = 0.260%14. 9kg/m*2 = 8
SS400, L-125x75x
10x10 8 kg
V7 b
W= 7+8 =15
15 kg
FHTRERAS T35 A E
HE YW= 55+15 =70
C-HhdLEaTe 70 kg
B IRV N A
N =12
F10T. HTB M22x60
12 #H
B IRV N A
N = 20
F10T. HTB M22x70
20 #H
EJIAR IV FAREA
) YN= 12+20 = 32
32 HH
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a7 GANT
X e =i

=3
=

A RS Bl Vi ¥ =
AL SR
W = 12%0. 525kg/fH 6
F10T. HTB M22x60
6 kg
AL N EE
W = 20%0. 555kg/#H 11
F10T. HTB M22x70
11 kg
IRV NEES
At W= 6+11 17
17 kg
T =RV PR
oig N=2
$ 22x280, SS400 2 H#H
7 —R)V NE
5= ALK Wi= 0.280%2. 98kg/m 0.834
F > K W2= 0.079kg/
$ 22x280, SS400 JE 4 W3= 0. 019kg/#
SW=(0.834+0. 079+0. 019) *2 1. 864
2 kg
ITHERA I T
A = 0. 455%0. 980 0. 45
0.45 m2
o LREE T
A = 0. 455%0. 980 0. 45
0.45 m2
7 A G)Ero)HIfE
T L = 0. 189+0. 980+0. 160+0. 090%2 1. 509
HE t=10mm, #7
PANTT] 1.51 m
JE 55 R TR T
N =1
HEEE L=20mPA
. IEM EE W=10
OkgLL T 1 &




__‘fbltfkééi

M Bl MY TR E T

A= G4ifﬁ

X e =il
AR B RS Bl Vi ¥ =
SRR A B T
[Guss]
G =20kg/ 1544 W1= 0. 160%0. 009%0. 740%7850kg/m3 = 8
N1= 2
W2= 0. 160%0. 009*0. 420%7850kg/m3 = 5
N2= 1
[Stiff]
W3= 0. 260%13. 3kg/m = 3
N3= 2
W4= 0. 260%14. 9kg/m = 4
N4= 2
a8
N = 2+1+2+2 = 7
7 #
FH RS A B T
[Web+F1g+Sole]
20< G =40kg/1ER W1= 0. 180%*0. 010*0. 980%7850kg/m3 =14
M W2= 0. 160%0. 009*0. 980%7850kg/m3 =11
W3= 0. 200%0. 014*0. 350%7850kg/m3 = 8
a8
W = 14+11+8 = 33
N=1
1 #
ST LB 1T
N = 32
SS400, t=30, /K
SERONRRE, M2
2 ¢ 24.5 32 N
B IRV N AKE T
N = 32
HTB M22
32 /N
AT T
Web PL t=10
Wi= (0. 180+0. 009)*0. 010%0. 980%7850kg/m3 =15
L-Flg L-75x75x 9x 9
W2= 0. 980%2%9. 96kg/m = 20
Stiff L-90x90x10x10
W3= 0. 260%2%13. 3kg/m = 7
2 W= 15+20+7 = 42
42 kg
AT T
W =42
~ B —H1
42 kg
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Tt 7719, 624 1 ~29. 447

kN/m2, F¥JE &1, 580 B~
AR T 4. 6Aifim Zm3 56. 2 56. 2
A TR |H-200% 48 m 12.4 12.4
THEZATESE |H-200% 8¢ kg 385. 6 385. 6
27 U — kA [50cmx50cmxt30cm & AR E
T o ck=18N/mm2 m3 0.15 0.15
FERER A ST, NI EY) m2 1.2 1.2
oy ) — N
L MRS m3 0.15 0.15
a7 Y — ML
o) i =L 7 ) — b m3 0.15 0.15
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. 5LL - ~4. 6im

= i XEAXRT
\iii o FHAB HW.L=115.081 || -
<y | Came>
i
EHIRSAEL, BT B a7 U — MRIUE O SRS R T
WCHECEF BT 5,
V = (3.800+2. 4)%{1/2% (2. 100+2. 500) +0. 15}
% (2. 700+1. 0) = 56.20
56.2  Ztm3
ThE= A TR
L = 2%(3.800+2. 4) = 12.40
H-200 % 87
12.4 m
Th= A LEE
W = 12.40%31. 1kg/m = 385.6
H-200 % 87
385.6 kg
a7 — EEHE
T V = 0. 500%0. 500%0. 300%2 = 0.150
50cmx50cmxt30cm
ZHAE. o ck=18N
/mm2 0.15 m3
FERER R
A = 0. 500%4%0. 300%2 = 1.20
— A N
=) 1.2 m2
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R B EMTRCE T
Tnavy o FEL
X 45 0 Al~A28%
A1 A Bl VA B =
a7 U —
L V = 0.150
RS ) 0.15 m3
a7 ) — bikhl
ST V = 0.150
MG 7Y — b 0.15 m3
a7 Y — Ml
FANEE -y W = 0.150%2. 35t/m3 = 0. 353
0.35 t

M7 ) — K







FiE B BT BRI
H K Re-TIRIERFEY

B R R

EET
G| PSS HAT a & fii
GI#T G2AfT G3#HT G4AfT
TR AL Re—TT¥4 A HH Y m2 6.70 8.78 8. 78 6.53 30. 79
JKPE m2 7.16 8.78 8.78 7.00 31.72
QM L UMY (BRI
& M FlafEHT %) m2 7.16 8. 178 8.78 7.00 31.72
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—EEA

M ) BB ARIET BT

Tuy 7 s BEL
X 4y 1 GIAT

ngﬁ% Bl Vi B R &
=
e — 4 T 15 4
RC_H@%%W% L-75x75x9x9 L-75x75x9x9
Iy Ry Md=22BEIC & % )Ry Md=22BEIC & %
BEBROEM BEBBEOEM
0.7548m2/100088 0.7548m2/100088
10 [\ L-75x75x9x9
75075 — 160
160
[ AT (D) ]
Al = 0.075%2%2% (5. 485-0. 980-0. 990) = 1.055
A2 = (0. 305%2+0. 010) * (5. 485-0. 980-0. 990) 2.179
A3 = 0.075%3%2% (5. 485-0. 980-0. 990) = 1.582
A4 = —0.160%0. 205%2 [GussiZz] -0. 066
A5 = 0. 075%0. 455%8%2 0. 546
A6 = {(11+8+9+11)*2+3%6} *2:%0. 7548,/1000 = 0.145
[ 4T (Y THHRER) ]
A7 = 0. 075%2%2% (0. 980+0. 990) = 0.591
A8 = 0. 111%2% (0. 980+0. 990) 0. 437
A9 = 0.075%0. 186%2%2 0. 056
A10= 0. 090%0. 186%4%2 0.134
Al1= (11+11+1+1)%2%0. 7548/1000 = 0.036
S A= 1. 055+2. 179+1. 582+-0. 066+0. 546+0. 145
+0. 591+0. 437+0. 056+0. 134+0. 036 = 6.695
6.70 m2
IRPE
A = 6.695+0. 080% (0. 980+0. 990) *2
+0. 075%0. 269%2%2+0. 160%0. 205%2 = 7.157
7.16 m2
& A
A = 6.695+0. 080% (0. 980+0. 990) *2
2fE A LY ( +0. 075%0. 269%2%2+0. 160%0. 205%2 = 7.157
DRI Bt A1) A Ak
T 5) 7.16 m2




arL S | A
—IE R E
fi B BB WRIET . BRI
A =R/ o
X 4y G2AfT

Hisl] B i3 LV B

PR =
IR L-75x75x9x9

Re-TTE3E A Y

75

YRy Rd=22BI2 & B
FEEBOEM 0. 7548m2/100088

0
455

y

L-75x75x9x9

10
75|75
160

[ =EA7]

Al= 0. 075%2%2%5, 485 = 1.646

A2= (0. 305%2+0. 010) *5. 485 = 3.401

A3= 0. 075%3%2%5, 485 2. 468

Ad= 0. 075%2%0. 455%5%2 = 0.683

A5= 0. 090%2%0. 455%2%2 = 0.328

A6= {(11+10+9+9+10+11+1) *2+2%2+3%6} *2

*0. 7548/1000 = 0.217
[3k]
A7= {(0. 200-0. 160)*0. 200+ (0. 200+0. 200) *2
*0. 014} *2 = 0.038
2 A= 1.646+3. 401+2. 468+0. 683+0. 328+0. 217+0. 038 = 8. 781
8.78 m2

IRPE

A = 8.781

8.78 m2

& A

A = 8.781
oA LY (
DRI Bt A1) A A

T 5) 8.78 m2




arL S | A
—IE R E
fi B BB WRIET . BRI
A =R/ o
X 4y G3#T

Hisl] B i3 LV B

PR =
IR L-75x75x9x9

Re-TTE3E A Y

75

YRy Rd=22BI2 & B
FEEBOEM 0. 7548m2/100088

0
455

y

L-75x75x9x9

10
75|75
160

[ =EA7]

Al= 0. 075%2%2%5, 485 = 1.646

A2= (0. 305%2+0. 010) *5. 485 = 3.401

A3= 0. 075%3%2%5, 485 2. 468

Ad= 0. 075%2%0. 455%5%2 = 0.683

A5= 0. 090%2%0. 455%2%2 = 0.328

A6= {(11+10+9+9+10+11+1) *2+2%2+3%6} *2

*0. 7548/1000 = 0.217
[3k]
A7= {(0. 200-0. 160)*0. 200+ (0. 200+0. 200) *2
*0. 014} *2 = 0.038
2 A= 1.646+3. 401+2. 468+0. 683+0. 328+0. 217+0. 038 = 8. 781
8.78 m2

IRPE

A = 8.781

8.78 m2

& A

A = 8.781
oA LY (
DRI Bt A1) A A

T 5) 8.78 m2




arL S | A
—IE R E
fi B BB WRIET . BRI
A =R/ o
X 4y GAMT

AR B L VD %] ® =
R - - -
_HQDB éf*ﬁ*ﬁﬂ%nﬂ
Re-TTHEEERAH = L-75x75x9x9 L-75x75x9x9

YAy Md=22BEIC &£ B
ZEEMBEOEM
0.7548m2/100088

ARy bd=22BEIZ £ B
ZEEMBOEM
0.7548m2/100088

Lo

191 [75

0
455
455

269
(339)
189
(259)(121)

i = T
10 |\ L-75x75x9x9
L R — 160

X () FEAMZERY.

[T (ED ]

Al = 0.075%2%2% (5. 485—-0. 980-0. 980) = 1.058
A2 = (0. 305%2+0. 010) * (5. 485-0. 980-0. 980) 2.186
A3 = 0.075%3%2% (5. 485-0. 980-0. 980) = 1.586
A4 = —0. 160%0. 205%2 [GussfZEf] = —0. 066
A5 = 0. 075%0. 455%8%2 = 0.546
A6 = {(11+8+9+11)*2+3%6} *2:%0. 7548,/1000 = 0.145
[ 4T (Y THHRER) ]
A7 = 0. 075%2%2% (0. 980+0. 980) = 0.588
A8 = 0. 041%2%0. 980+0. 111*2%0. 980 = 0.298
A9 = 0.075% (0. 116+0. 186) *2 0. 045
A10= 0. 090% (0. 116%2+0. 186%2) *2 = 0.109
All1= (11+11+1)%2%0. 7548/1000 = 0.035
S A= 1. 058+2. 186+1. 586+-0. 066+0. 546+0. 145
+0. 588+0. 298+0. 045+0. 109+0. 035 = 6.530
6.53 m2
IKYEVN
A = 6.530+0. 080% (0. 980+0. 980) *2
+0. 075% (0. 339+0. 269) *2+0. 160%0. 205%2 = 7.000
7.00 m2
& A
A = 6.530+0. 080% (0. 980+0. 980) *2
2fE A LY ( +0. 075% (0. 339+0. 269) *2+0. 160%*0. 205%2 = 7.000
DRI Bt A1) A Ak

T 5) 7.00 m2
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Ml SOKBET

B R R

MO
Gt GAKT
G| PSS HAT a & fii
JEC A5 ]| JEC A5 ]|

NS 7 ) — T A
HBEEa 7 ) — TR, o ck=24N/mm2 m3 0.17 0. 14 0.17 0. 14 0. 62
Tl e /BRI e T m2 0. 47 0. 42 0. 47 0. 42 1.78
2810 /NSRS 1., SD345, D16 kg 95 0 0 0 95
HEE L2 L /NG B /L 2 L L m3 0. 007 0. 007 0. 007 0. 007 0. 028
5 T A /BRI e T m2 0. 08 0.08 0. 08 0.08 0.32
227 Y — MEFL BN~ FU L ¢ 26x1
T 70 FL 4 4 4 4 16
T h—T D16, SD345, FJ5lf] FN 4 4 4 4 16
[EIERE N TR U RBIETE AR kg 0.28 0. 28 0.28 0.28 1.12
ary7U—rhy
A —T 71 Z—g)Wr, JE15cmPh T m 2.27 2. 20 2.27 2. 20 8.94
EN VAN ¢
L MRS m3 0.19 0.14 0.19 0.15 0.67




B R R

Bl SOKBET
O
Gt GAKT
G| PSS HAT a & i
e A & A JE A & A
a7 Y — N&AL
o) =L 7 ) — b m3 0.19 0.14 0.19 0.15 0. 67
ay 7 Y — Mg
Sy E =L 7 ) — b t 0. 45 0.33 0. 45 0. 36 1.59
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B SOKBEEL

A=RR/ARN T
X A =X ]

AR B RS Bl Vi B ¥ =
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V = 0. 665%0. 850%1/2% (0. 290+0. 307) 0. 169
N 7 ) —
NI, ANJI¥TER,
o ck=24N/mm2 0.17 m3
il

Al= 1/2%(0. 290+0. 307) *0. 850%1. 10793 0. 281
SN T A2= 0. 665%0. 290 0.193

it

A = 0.281+0. 193 0. 474

0.47 m2

ESNiT]

W =95
NIRRT T2, SD
345, D16 95 kg
KB LA )L

V = 0. 300%0. 450%0. 050 0. 007
AN I £ L
2T 0. 007 m3
2 JE T

A = (0.300+0. 450) *2%0. 050 0.075
SN T

0.08 m2

a7 ) — MHIFL
T N =4
FEEh N~ KU L
. ¢ 26x170 4 fL
7 A— 1T

N =4
D16, SD345. T 5
] 4 ZN
IIEREN

W = 1/4% 7 %(0. 026" 2%0. 170-0. 016" 2%0. 160) *4
TR U REHEE %1200kg/m3 0.279
N7 0.28 kg
a7 U— Moy
2 —T L1= 0. 309

2= 0. 665+0. 350 1.015
o Z—glr, JE | L3= 0.850%1. 10793 0.942
15emPL T

it

L = 0.309+1.015+0. 942 2. 266

2.27 m
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V1= 0. 665%0. 168%0. 850 = 0.095

V2= 1/2% (0. 612+0. 665) *0. 043%0. 850 0.023

V3= 1/2% (0. 612+0. 646) *0. 139%0. 850 = 0.074

& #t

V = 0.095+0. 023+0. 074 = 0.192

0.19 m3

a7 U — kil
Gaprs V = 0.192
AT :1/7)~I\ 0.19 m3
:1/7)—1\ /L
sy EH W = 0.192%2. 35t/m3 = 0. 451
a7 ) —k 0.45 t
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SN T A2= 0. 600%0. 292 0.175

it

A = 0.249+0. 175 0. 424

0.42 m2

ESNiT]

GUATE AUECEF £
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345, D16 0 kg
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V = 0. 300%0. 450%0. 050 0. 007
AN I £ L
2T 0. 007 m3
2 JE T

A = (0.300+0. 450) *2%0. 050 0.075
SN T

0.08 m2
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T N =4
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2= 0. 600+0. 350 0. 950
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L = 0.418+0.950+0. 833 2.201

2.20 m
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&5t
V = 0.063+0. 010+0. 069 = 0.142
0.14 m3
a7 — MRAL
- V =0.142
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a7 Y — MRAL
ANy W = 0.142%2. 35t/m3 = 0. 334
MG 7Y — b 0.33 t
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SN T A2= 0. 665%0. 289 0.192
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A = 0.280+0. 192 0. 472

0.47 m2
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V = 0. 300%0. 450%0. 050 0. 007
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2T 0. 007 m3
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A = (0.300+0. 450) *2%0. 050 0.075
SN T

0.08 m2
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FEEh N~ KU L
. ¢ 26x170 4 fL
7 A— 1T

N =4
D16, SD345. T 5
] 4 ZN
IIEREN

W = 1/4% 7 %(0. 026" 2%0. 17-0. 016" 2%0. 16) *4
TR U REHEE %1200kg/m3 0.279
N7 0.28 kg
a7 U— Moy
2 —T L1= 0. 309

2= 0. 665+0. 350 1.015
o Z—glr, JE | L3= 0.850%1. 10793 0.942
15emPL T

it

L = 0.309+1.015+0. 942 2. 266

2.27 m
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V2= 1/2% (0. 611+0. 665) *0. 050%0. 850 = 0.027
V3= 1/2%(0. 611+0. 647) *0. 155%0. 850 = 0.083
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V = 0. 082+0. 027+0. 083 = 0.192
0.19 m3
a7 U — kil
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Al= 1/2%(0. 292+0. 307) *0. 750%1. 11072 0. 249
SN T A2= 0. 600%0. 292 0.175
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A = 0.249+0. 175 0. 424

0.42 m2
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2 —T L1= 0.418
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V1= 0.600%0. 145%0. 750 = 0.065
V2= 1/2%(0. 550+0. 600) *0. 050%0. 750 = 0.022
V3= 1/2%(0. 550+0. 600) *0. 155%0. 750 = 0.067
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V = 0.065+0. 022+0. 067 = 0.154
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EAME, mE-YI6EHERES %,

HERNK
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HFE A=10cmFR BT X 8 & Semfe

ELSLEREHT

Im2¥4 7=V 16645 AT 248 L.

2 AT HIAE 720N,
V = 0.100%0. 100%0. 050%0. 455%4. 400%16 = 0.016

0.02 m3
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V = 0.100%0. 100%0. 050%0. 455%4. 000%16 = 0.015

0.02 m3




